WELDING

SPARE PARTS




CABLE & PANEL CONNECTORS SUEGIPS CABLE & PANEL CONNECTORS AU TS
€ ENeooTa12

B [ coie | memsx [Nl el b]c] ] o] [Typo] Code | Doscription | Pack]

® 10-25 1SQ0080 200A 6 23 6 20 ®32 14 1SQ0032 Fllug TS 2= /46 L=0,Em 10
N 10-25 1SQ5080 200A 6 23 6 20 ®32 14 TIGHI BRI 525mma 1/4G L=0.6m
L ° 1SQ0032-01 Plug TIG 25mmq 1/4G L=0.6m/new type 10
35-70 1SQ0086 400A 18 34 6.5 30 @48 21 : TIGH 1R & #fi <25mmq 1/4G L=0.6m/#i X
35-70 1SQ0053 400A 13 33 63 30 @38 21 | 0.6m | Plug TIG 25mmq 3/8G L=0.6m
- 1ISQ0033 > N 10
TIGH &£ #F $~25mmq 3/8G L=0.6m
70-95 1SQ0054 500A 20 33 63 30 ®38 24
A | | 1SQ0033-01 Plug TIG 25mmq 3/8G L=0.6m/new type
70-95 1SQ0087 500A 25 34 65 30 48 24 st Q - TIGH &% #% 3k25mmq 3/8G L=0.6m/3 3% 10
v Plug TIG 25mmq M12x1 L=0.6m
1SQ0034 TIGH 3% # £25mmq M12x1 L=0.6m 10

Plug TIG 25mmq M12x1 L=0.6m/new type
ISQ0034-01  T|GH sk §f k25mmq M12x1 L=0.6m/Hz  1°

A
Plug TIG 50mmq 1/4G L=0.6m
1SQ0022 TIGH 1R % # 550mmq 1/4G L=0.6m 10
Plug TIG 50mmq 1/4G L=0.6m/new type
1SQ0022-01 |Gy & 5 k50mmq 1/4G L=0.6m/Hi 7% 10
| 2m | Plug TIG 50mmgq 3/8G L=0.6m
| | 1SQ0023 TIGH 1% % 3<50mmq 3/8G L=0.6m 10

Plug TIG 50mmq 3/8G L=0.6m/new type
e e D N 1SQ0023-01  1G e 3ak 4 Sk50mmq 3/8G L=0.6m/Hi 7% 10
| mm' | Code [ ampmax [Nmlalb]cld]e] -
1SQ0024 Plug TIG 50mmq M12x1 L=0.6m 10

TIGH R i#E #f <50mmq M12x1 L=0.6m

10-25 1SQ0060 200A 6 23 6 20 325 14 1SQ0024-01 $:ég)5HTlfi§?££5q0M1zx;l\/llqzo-‘lslr_nlg%vvt/);}??‘t 10
[ $50mmq x1 L=0.6m/# =

35-70 1SQ0027 400A 18 23 6 305 ®38 21 c _ Ellire TIE 25 =
ug mmqg L=2m
70-95 1SQ0028 500A 25 33 6 305 ®38 24 1SQ6675 S 4 S 10

TIGH R #f 25mmq L=2m

Plug TIG 25mmqg L=2m/new type

0.22m 5 ISQ6675-01 TGy sk 4 Sk25mmq L=2m/#i =t 10
Plug TIG 50mmq L=2m
ISeEoEE TIGH] 14 3% #& 5-50mmq L=2m 10

Plug TIG 50mmq L=2m/new type
ISQO036-01 |G fr i 4 Sk50mmq L=2m/3 2 10

Plug TIG 25mmgq quick connector L=0.6m
TIGH £ # k25mmq quick connector L=0.6m

Plug TIG 25mmq quick connector L=0.6m/new type
c 1SQ0040-01 TIGH 1} % #f k25mmq quick connector L=0.6m/37 = 10

Plug TIG 50mmgq quick connector L=0.6m
TIGH £ #f 550mmq quick connector L=0.6m

Plug TIG 50mmq quick connector L=0.6m/new type
1SQ0030-01 TIGH # % #f k50mmq quick connector L=0.6m/3 = 10

Plug TIG 50mmq 5/8-18UNF L=0.22m

1SQ0040

1SQ0030

L mm | Code ] ampmax | o |

10-25 1SQ0070 200A 14 ISeEoEs TIGH] 1% #& <50mmq 5/8-18UNF L=0.22m 10
. soser zo g O isaooanor  PUGTISImnGsISUN Lozimneuee o,

50 1SQ0077 300A 21

70 1SQ0075 400A 21

70 1SQ0078 400A 24

95 1SQ0079 500A 24

L mm | Code ] ampmax | e |

10-25 1SQ0090 200A 14
35 1SQ0096 250A 21
50 1SQ0097 300A 21 1506085
70 1SQ0012 400A 21 1ZH7634
70 1SQ0098 400A 24
95 1SQ0099 500A 24
Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

1 ERTIEMER. RREGNSERSER, BRHEAR (AREMD ERTIEMEE. NRRRGNSERSHTIR, EREEAR (AR 2




EARTH CLAMP #£ih3k

[Code | Ref. | Descripiion | pack]

[Code | Ret. | Desoription ] pack

Italy Type Earth Clamp 200A

I1H0145 B H3200A 50
Italy Type Earth Clamp 300A

11H0146 BREHRI00A 50
Italy Type Earth Clamp 400A

Iy R F400A <Y

[Code | Ret. | Desoription ] pack

European Type Earth Clamp 200A

10150 B R 5200A Y
European Type Earth Clamp 400A

IIH0151 B iZ 4 5400A 50
European Type Earth Clamp 600A

lIH0152 B3 1456600 50

[Code | Ret | Description [ Pack

European Type Earth Clamp 300A

11H0155 B HE i 52300 50
European Type Earth Clamp 500A

1IH0156 B 365004 50

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

EXRTFEMER. NBRREGNSERSHIER, BRHEEAR (AFEMD

EARTH CLAMP i#Fihi3k

[Code | Ret | Description ——pack

European Type Earth Clamp 300A

liHO160 BR X E300A U
European Type Earth Clamp 500A

o161 B iE 4 %500A 50

[Code | Ret | Description | Pack

Holland Type Earth Clamp 300A

IIH0165 PR %300A 0
Holland Type Earth Clamp 500A
IIH0166 2 5 5500A 50

[Code | Ref. | Description | pack]

American Type Earth Clamp 200A
liHo167 £3X#23200A U

[Code | Rer | Description | pack

British Type Earth Clamp 500A

1IH0190 HREHF500A U
British Type Earth Clamp 600A
1IH0191 330 H3£600A 50

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

EETFEMBER. NBEERRGNSERSHER, ERHEAT (23-MN)




ELECTRODE HOLDER R &5 ELECTRODE HOLDER H&3H

[Code | Ref. | Descripiion | pack] [Cods | Rt | Dosoription | Pack

Italy Type Electrode Holder 200A Italy Type Electrode Holder 200A
LLIQI00 B HRIEH200A ol iHaon7 BHAARRMH200A %0
Italy Type Electrode Holder 300A Italy T Electrode Holder 300A
11HO101 g4 y lype Electro
B RE300A 50 IHQo118 B IZEH300A 50
Italy Type Electrode Holder 400A
7 e B AR HA00A 50

Italy Type Electrode Holder 500A
a 10102 BRAI2H500A %0 a-

[Code | Ret. | Desoription ] pack

11H0105 Italy Type Electrode Holder 200A Red 50

BN EIRH200A
Italy Type Electrode Holder 300A Red
4 lIHo106 TEF R AIRHI00A 50
Italy Type Electrode Holder 500A Red
: 100 TEBRAIRHS00A Sy

[Code | Rer | Description | pack

Holland Type Electrode Holder 300A

IIH0125 2 AR H300A <Y
Holland Type Electrode Holder 500A

o126 722 LIRS 00A 50

i T T T N [ ——— [Code | Ref. | Description | pack

1IHO110 Italy Type Electrode Holder 200A 50

Australian Type Electrode Holder 300A
B EIR6H2004 11H0130 Mot I8 43008 50
Code m Description m
Italy Type Electrode Holder 300A Red
1IHO115 3t E4H300A 50
Italy Type Electrode Holder 500A Red
11HO11 ot
o116 B RIRH500A 50
Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

5 EIRTFEMER. NBEREGHNSERSHER, ERAHEART (2FEMD EIRTFEMER. NBREGNSERSHTIR, BREEAR (AFET) 6




ELECTRONIC PLUG

¥ C € evawr @

IHQ0750  M19x1.0

LS4 5k

[Code | Ref | Desoription ] Pack

ELECTRONIC PLUG

¢ C € avomrr @

IHQ0752

LS4 5k

[Godo | Rt | Doscripon | Pack|

cT
g IHQO750 g 2 holes 10 T — Comnector 2 oles -
o it
a IHQO757 mE 10 IHQO752-01 opnector 4 holes 10
Connector 3 holes 10 1HQ0752-01 Cc::nector 14 holes
IHQO0757  M16x1.0 IHQ0799 =R IHQO730 iy e 10
T - Connector 5 holes
€ hesr IHQO0754 10 Connector 14 holes
£ ',E’;m i A Q0736 + S 4 10
o CONNTECTOR 6 HOLES/YS-16 c tor 2 hol
-4 & IraYe2 AAHIE/ YS-16 e IHQO759 BERE 10
Connector 7 holes i
IHQ0719 + 10 114 ~ 14PIN Connector 3 holes/With connectors/Pan
IHQ0799  M16x1.0 LR IHQO736  1-1/4-18 UNEF-28B IHQO751 =R A R BT 10
CONNTECTOR 2 HOLES/YS-16 £ Connector 4 holes/Meller
e IHQ0885 AR/ YS—16/5F 2 10 ‘EI RUE2 S A K 10
£ g
CONNECTOR 5 HOLES/BINDER <
c’:' IHQ0895 SIS/ 10 Y IHQ0791 ?\o;,'_?(rﬁ}j%c%ora holes 10
IHQO758 e 10 IHQO715 SO 10
=t [y
IHQO754 IHQO730  1-1/4-18 UNEF-2B Connector 14 holes
eT Other plug and socket at request c 1HQ0792 I 10
£ £
~ ©
o é?l
Other plug and socket at request
1HQ0872
IHQO759
£ —
£ £
~ £
o~ [=e]
o g
IHQ0719  M16x1.0
IHQO751
T
£
@
<
N__
IHQO742
E —
£
v
ol
IHQO791
T
£
©
ol

IHQ0715 15/16-20

23.5mm

IHQO0792
Q 14PIN

21.3mm

/

v/

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

7 O RTFEMER. MRREGNSERSHER FRHEART (AFEN ERTIEMEE. NRRRGNSERSHITIR, EREEAR (AR 8




ELECTRONICPLUG HS#HEk CLAMP %

v C € Eveosrer
[Code | Rer | Description | pack

IHQ0737

[code | Rer | Deseription ] pack]

£
£ Connector 3 holes
SI IHQ0737 = RE 10
" IHQO756 Connector 5 holes 1 IFT0720 Clamp ®20mm;+ & ®20mm 10
AR 0
Connector 7 holes IFTO722 Clamp O9mm;FfE GImm 10
IHQO0756 IHQ0720 il 10 IFT0720
ET Connector 6 holes IFT0723 Clamp ®7mm;F# O7mm 10
E IHQ0721 T 10
Sl 1HQ0930-01 CONNTECTOR 6 HOLES/PAN/M 10 IFT0724 Clamp ®8.3mm;+# ®8.3mm 10
NIRRT/ IFT0722 9 | i
|HQ0930 CONNTECTOR 6 HOLES/PAN/F 10 L, mm IFrrsw Clamp ®8mm;+f# O8mm 10
IHQ0720 SRR/ T/ B
IFT0734 Clamp ®8.7mm;F & ©8.7mm 10
_ Connector 7 holes
E IHQO0710 LR 10
N IFT0735 Clamp ®10.5mm;F#E ®10.5mm 10
o Connector 4 holes IFT0723
L o IHQ0854 I B 10
© tor CX16-4T IFT0737 Clamp ®9.5mm;+4& ®9.5mm 10
onnector -
1HQ0721 M29x1.0 Treliy TS A R A 10
: ) . . IFT0741 Clamp ®21mm;+# ©21mm 10
1ZX0063 %egre;(;&a%tg tor%t}s%e*Pé.fASMA without back box and pins 10
BT KIFERER
] IFT0724 IFT0744 Clamp ®22mm; 4§ ®22mm 10
£
©
s - IFT0748 Clamp ®17.5mm;F & ®17.5mm 10
—
Other plug and socketat request IFT0730 IFT0823 CLAMP 013-19mm ; &5+E013-19mm 10
IHQ0930-01 6PIN
L 10
- - IFT0734
1HQ0930 6PIN
s
. ' IFT0735
IHQO0710
. ; 7PIN
c IFT0737
£
w0
IHQ0854
IFT0741
£
£
e}
IHQ0140 4PIN IFT0744 5
I = i s
£ — |
N~
IFT074
o748 17.5mm
1Z2X0063 =
Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

----9 ---- ERTIEMEE. NRRRGNSERSHER, EREEAR (AR FERTIEMEE. NRRRGNSERSHIR, EREEAR (AR 10




QUICK CONNECTORS #:®#% % HOSES-TUBES &#71

¥ C € Eveosrer (© v/ C € enevrar (@

[Goce [ Ret. | Doscription

RO o

. £=3
o 1278025 Quick connector ® 6mm Red;7K i if #fi FE® 6mm/4L & 10 IKH0014 EPDM tube cD45><47mm/B|ack,EPDMz D 45x47Tmm/E &
PS 1278035 Quick connector ® 6mm Blue:7k i & 5 FE ® 6 mm/ix & 10 IKH0019 EPDM tube ® 31x33mm/Black;EPDM%Z ® 31x33mm/E &
IZT8095 501.0204 Quick connector ® 6mm;7k i i #& EE® 6mm 10 IKH0059 EPDM tube ® 35x37mm/Black;EPDM#& ® 35x37mm/2 &
IKH0090 EPDM tube ® 16x18mm/Black;EPDM%Z ® 16x18mm/E &
[ ) $8 1278021 Quick connector ® 8mm Red;7K i & 1 FE® 8mm/4 & 10 IKH0091 EPDM tube ® 20x22mm/Black;EPDM%& ® 20x22mm/2 &
[ J 1ZT8031 Quick connector ® 8mm Blue;7 B &% EO 8mm/E & 10 IKH0092 EPDM tube ® 19x21mm/Black;EPDM& ® 19x21mm/2 &
1ZT8091 501.0190 Quick connector ® 8mm;7k i i 1 EE® 8mm 10 IKH0093 EPDM tube ® 26x28mm/Black:EPDME ® 26x28mm/E &
. £=3
$10 1278092 Quick connector ® 10mm:7k i & & B ® 10mm 10 IKH0094 EPDM tube ® 24x26mm/Black;EPDME ® 24x26mm/E &
IKH0095 EPDM tube ® 16x20mm/Black;EPDM%Z ® 16x20mm/& &
IKH0099 EPDM tube ® 14x16.5mm/Black;EPDME ® 14x16.5mm/2 &
IKH0619 EPDM tube ® 22.5x25.5mm/Black;EPDME ® 22.5%x25.5mm/E &
Cod D e, ICK0043 EPDM tube ® 10.5x14mm/Black;EPDM%Z ® 10.5x14mm/Z &
ode P ICK0049 EPDM tube ® 8.5x12.5mm/Black;EPDM& ® 8.5x12.5mm/Z &
IKH0056 EPDM tube ® 11.7x15.7mm/Black;EPDME ® 11.7x15.7mm/Z &
M12x1.5  1ZT8050 Quick connector M12x1.5;7k i & & 2 M12x1.5 10 IKH0665 EPDM tube ® 4x7mm/Black:EPDM# & 4x7mm/E &
M14x1 1278056 Quick connector M14x1;7k R i #fi B2 M14x1 10 IKH0669 EPDM tube ® 5x10mm/Black;EPDM& ® 5x10mm/£ &
1/4" 1ZT8057 Quick connector 1/4G; 7K R B IHEEE 1/4G 10
3/8" 1ZT8058 Quick connector 3/8G;7k iR i@ & EE 3/8G 10
s A =
M12x1 1278094 Quick connector M12x1;7k & i@ & 2 M12x1 10 ICK0665 RubetubetDZZXZSmm/BIack,;#ﬂmg ®22x25mm/2 &
ICK0666 Rube tube ® 25x28mm/Black; X i 55 & © 25x28mm/E &
ICK0667 Rube tube ® 28x31mm/Black; R K & ® 28x31mm/B &
ICK0668 Rube tube ® 40x43mm/Black; X 1 5B & © 40x43mm/2 &
ICK0676 Rube tube ® 51x54mm/Black; R &5 & ¢ 51x54mm/BE &
m Code m Description m IKH0044 EPDM tube ® 5x8mm/Black;EPDME& ® 5x8mm/E &
IKH0601 EPDM tube ® 5x8mm/Blue;EPDME& ® 5x8mm/ik &
IKH0604 EPDM tub 10x15mm/Black;EPDM& ® 10x15mm/2
® 138G 1278029 Quick connector 1/8G Red;7k i @4 EE 1/8G/4L 10 ’ 00 JUARI RS IO 0
1778039 10 ’ IKH0605 EPDM tube ® 5x8mm/Red;EPDME ® 5x8mm/4 &
® Quick connector 1/8G Blue 7k iR & & 2 1/8G/E & IKH0609 EPDM tube ® 9x13mm/Black;EPDME ® 9x13mm/E &
1ZT8099 Quick connector 1/8G;7kK iR i@ fHEE 1/8G 10
IKH0630 Silicon tube ® 9x13mm/white; iR E ® 9x13mm/A &
IKH0635 Silicon tube ® 5x8mm/white;EE 1 iL & © 5x8mm/H &
\ IKH0636 Silicon tube ® 10x15mm/white;f#% i & ® 10x15mm/A &
IKH0638 Silicon tube ® 6x9mm/white;EE# X & © 6x9mm/E &
IKH0071 PU tube ® 4x6mm/black;PUE ® 4x6mm/E &
‘ pU =8 e
o4 273050 Quick connector ®4mm:7k i &3E E® 4mm 50 IKH0074 PU tube ® 4x6mm/high TEMP./blue;PUE ® 4x6mm/fi} &5 iR/ &
PUE =
6 1ZT8070 501.0114 Quick connector ® 6mm;7k i i 1 FE ® 6mm 50 IKH0076 a0 tubeCDGxamnleIack,PUg OE- TS T
IKH0087 PU tube ® 6x8mm/high TEMP./blue;PUE ® 6x8mm/fii &5 iR/1k &
o8 1278089 Quick connector ® 8mm;7k % i i FE ® 8mm 50
$10 1278085 Quick connector ® 10mm;7K & B #HE O 10mm 50 Code m Descript
IKH0706 PVC tube ® 20x22mm/Black;PVCE ® 20x22mm/2 & TT0AD EPDM tube ® 6x9mm/Black: EPDME ® 6x9mm/E £
IKHO0707 PVC tube ® 26x28mm/Black;PVCE ® 26x28mm/% & ‘ IKH0606 EPDM tube ® 10x15mm/Black;EPDME ® 10x15mm/2 &
PVCE 2
IKEI0708 PO OPY 2 Al O2T ol Ja IKH0607 EPDM tube ® 8.5x13mm/BlackEPDME ® 8.5%13mm/E &
IKH0666 PVC tube ® 10.5x15mm/Grey;PVCE ® 10.5x15mm/fx & IKH0062 PVC wired hose ® 5x8mm/Black;i & M 4 & ® 5x8mm/E &
IKH0667 PVC tube ® 8.5x12.5mm/Grey;PVCE ® 8.5x12.5mm/ik & IKH0070 PVC wired hose ® 5x8mm/Blue;i 58 M 4 & ® 5x8mm/ik &
IKH0075 PVC wired hose ® 5x8mm/Red;1 38 F 4 & ® 5x8mm/4L &
IKH0081 nylon tube ® 8x6mm/Black; 8 £ & ® 8x6mm/2 & IKH0011 Leather hose ® 19x21mm L=800mm/black;TIGH & & ¢ 19x21mm L=800mm/E &
- IKH0012 Leather hose ® 24x26mm L=800mm/black;TIGH & & ¢ 24x26mm L=800mm/2E &
Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)

ERTIEMER. BRGNS ERSIER, BRHEAR (AREMD ERTIEMEE. NRRRGNSERSHIR, EREEAR (AR 12




PROTECTION LENSES I%3H-#F H IR PROTECTION LENSES 3I%iE-#F Hix

v, C € eneoera7 (€ v C € ENeoera7 (@)
[ Dem[Dincolor| Code | Description ] Pack| [ Dem Dincolor| Code | Descripton | Pack]

1IH5750 Colourless lenses 75x98x1.8 CE-EN166;i% Bf 3 3%/75x98x1.8 CE-EN16x6 ~ 1-10-100

55x110 11H5793 Colourless lenses 55x110x1.8 CE-EN166;i% ff 3% 3%/55x110x1.8 CE-EN166 1-10-100
09 11H5713 Welding filter lenses mirror golden 75x98 DIN 09 CE-EN166;/2% € % /4% /75x98/DIN 09 CE-EN166  1-10-100
10 1IH5714 Welding filter lenses mirror golden 75x98 DIN 10 CE-EN166;/2# i % Fi/4 £/75x98/DIN 10 CE-EN166  1-10-100
11 1IH5720 Welding filter lenses mirror golden 75x98 DIN 11 CE-EN166;1& 3  Fr/4% £/75x98/DIN 11 CE-EN166  1-10-100
12 1IH5726 Welding filter lenses mirror golden 75x98 DIN 12 CE-EN166;/2#% 3  Fi/4 £/75x98/DIN 12 CE-EN166  1-10-100
13 1IH5727 Welding filter lenses mirror golden 75x98 DIN 13 CE-EN166;/8 5  Fr/4 £/75x98/DIN 13 CE-EN166  1-10-100
[oom {0 coor] Gode | Description S by
09 1IH5758 Welding filter lenses 75x98 DIN 09 CE-EN166;/& #% i % F/75x98/DIN 09 CE-EN166  1-10-100
10 1IH5759  Welding filter lenses 75x98 DIN 10 CE-EN166;/243% % H/75x98/DIN 10 CE-EN166  1-10-100 IIH5757  Colourless lenses 90x110x1.8 CE-EN166:i% #33#/90x110x1.8 CE-EN166  1-10-100
1 1IH5755 Welding filter lenses 75x98 DIN 11 CE-EN166;1& #% 8 3t F/75x98/DIN 11 CE-EN166  1-10-100
75x98 12 1IH5751  Weldingfilter lenses 75x98 DIN 12 CE-EN166;/2 4218 3 H/75x98/DIN 12 CE-EN166  1-10-100 09 1IH5718 Weldingfilterlenses 90x110 DIN 09 CE-EN166;18 53 % H/90x110/DIN 09 CE-EN166  1-10-100
13 1IH5752  Weldingfilter lenses 75x98 DIN 13 CE-EN166;8:4% 3 3 H/75x98/DIN 13 CE-EN166  1-10-100 10 1IH5719  Welding filter lenses 90x110 DIN 10 CE-EN166:%#% i 3 F/90x110/DIN 10 CE-EN166  1-10-100
” 1IH5715  Welding filter lenses 90x110 DIN 11 CE-EN166;8 # i % F/90x110/DIN 11 CE-EN166 1-10-100
09 IIH5758-01  Weldingfilter lenses 7598 DIN 09 CE-EN166inot grinded 1232 % K/75x98/DIN 09 CE-EN166/F it 1-10-100 IH5715-01  Weldingfiferlenses 90¢110 DIN 11 CE-EN166inot grinded; 1212 K 90x110/DIN 11 CE-EN166/R B2 1-10-100
10 11H5759-01  Welding filter lenses 75x98 DIN 10 CE-EN166/not grinded;#2$£ & i Fi/75x98/DIN 10 CE-EN166/F 8 1-10-100 12 1IH5711  Welding filter lenses 90x110 DIN 12 CE-EN166;12 4% %t F/90x110/DIN 12 CE-EN166 1-10-100
11 1IH5755-01  Weldingfilterlenses 75x98 DIN 11 CE-EN166/not grinded 2 % %  K/75x98/DIN 11 CE-EN166/K 38 1-10-100 IIH5711-01  Weldingfilerlenses 90¢110 DIN 12 CE-EN166/not grinded 842 % K190 20iDIN 12 CE-EN166R B 1-10-100
12 IH5751-01  Weldingfilterlenses 75x98 DIN 12 CE-EN166/not grinded: {81532 % K75+98/DIN 12 CE-EN166/R B 1-10-100 13 IIH5712  Welding filter lenses 0x110 DIN 13 CE-EN166;/2#i 3 /90x110/DIN 13 CE-EN166  1-10-100
13 1IH5752-01  Weldingfilter lenses 75x98 DIN 13 CE-EN166/not grinded;#21% & 3t Fi/75x98/DIN 13 CE-EN166/FEEiZ  1-10-100
09 11H5723  Welding filter lenses mirror golden 90x110 DIN 09 CE-EN166;/8 £ & ¢ /4% £/90x110 DIN 09 CE-EN166 1-10-100
09 1IH5735  Weldingfier lenses mirtor siver 75x98 DIN 09 CE-EN166,/2 18 KAER/75:98 DIN 09 CEENT  1-10-100 10 11H5724  Weldingfiter lenses mirror golden 9010 DIN 10 CE-EN166,R 216 % /i £/90+110DIN 10 CEEN166  1-10-100
10 11H5731 Welding filter lenses mirror silver 75x98 DIN 10 CE-EN166;12 % % K/ %%/75x98 DIN 10 CE-EN1T  1-10-100 90x110 11 IIH5730  Welding filter lenses mirror golden 90x110 DIN 11 CE-EN166;#2$# % /4 £/90x110 DIN 11 CE-EN166 1-10-100
11 1IH5732 Welding filter lenses mirror silver 75x98 DIN 11 CE-EN166;12 4 18 3 K /4% 42/75x98 DIN 11 CE-EN1  1-10-100 12 IIH5736  Welding filter lenses mirror golden 90x110 DIN 12 CE-EN166;/& 3  Fi /4% £/90x110 DIN 12 CE-EN166  1-10-100
12 1IM5733  Weldingfilterlenses mirrorsiver 7598 DIN 12 CE-EN186, 245 KA /7598 DIN 12 CE-EN1  1-10-100 13 1IH5737  Weldingfiter lenses mitror golden 90110 DIN 13 CE-EN166,2 £18 % i £/90+110DIN 13 CE Nt 1-10-100
13 1IH5734 Welding filter lenses mirror silver 75x98 DIN 13 CE-EN166;13 1% # /4 $%/75x98 DIN 13 CE-EN1  1-10-100
09 11H5745  Welding filter lenses mirror silver 90x110 DIN 09 CE-EN166; 1248 % K/ $%/90x110 DIN 09 CE-EN166  1-10-100
mmmm 10 1IH5741  Welding filter lenses mirror silver90x110 DIN 10 CE-EN166;48# i /4 $R/90x110 DIN 10 CE-EN166  1-10-100
1IH5756 Colourless lenses 50x105x1.8 CE-EN166;i% B 3 #§/50x105x1.8 CE-EN166 1-10-100 11 11H5742  Weldingfilter lenses mirror silver 90x110 DIN 11 CE-EN166;{24% 3% 3t /4% $%/90x110 DIN 11 CE-EN166  1-10-100
12 11H5743  Welding filter lenses mirror silver 90x110 DIN 12 CE-EN166;/8 # 3 # ki /4% $R/90x110 DIN 12 CE-EN166 1-10-100
09 11H5753 Welding filter lenses 50x105 DIN 09 CE-EN166:/8 £ # F/50x105 DIN 09 CE-EN166  1-10-100 13 1IH5744  Welding filter lenses mirror silver 90x110 DIN 13 CE-EN166;/8 £ 3t /4 $%/90x110 DIN 13 CE-EN166  1-10-100
10 1IH5754 Welding filter lenses 50x105 DIN 10 CE-EN166;18 # i 3% F/50x105 DIN 10 CE-EN166  1-10-100
1 1IH5710 Welding filter lenses 50x105 DIN 11 CE-EN166;18#% i # 1/50x105 DIN 11 CE-EN166  1-10-100
12 IIH5716 Welding filter lenses 50x105 DIN 12 CE-EN166;12 #% i % F/50x105 DIN 12 CE-EN166  1-10-100
13 1IH5717 Welding filter lenses 50x105 DIN 13 CE-EN166;12 1 % k/50x105 DIN 13 CE-EN166  1-10-100
09 1IH5753-01  Welding filter lenses 50x105 DIN 09 CE-EN166/not grinded;/2 4 % /50x105 DIN 09 CE-EN166/F iz 1-10-100
10 1IH5754-01  Welding filter lenses 50x105 DIN 10 CE-EN166/not grinded;/2 4% % /50x105 DIN 10 CE-EN166/F iz 1-10-100
11 1IH5710-01  Welding filter lenses 50x105 DIN 11 CE-EN166/not grinded;#2 % % /50x105 DIN 11 CE-EN166/AE#  1-10-100
50x105 12 11H5716-01  Welding filter lenses 50x105 DIN 12 CE-EN166/not grinded; /& 1  F/50x105 DIN 12 CE-EN166/F A~ 1-10-100
13 1IH5717-01  Welding filter lenses 50x105 DIN 13 CE-EN166/not grinded;#2 3% % Fr/50x105 DIN 13 CE-EN166/F 2 1-10-100
09 1IH5728 Welding filter lenses mirror golden 50x105 DIN 09 CE-EN166;1% 3 F/4 £/50x105 DIN 09 CE-EN166  1-10-100
10 1IH5729 Welding filter lenses mirror golden 50x105 DIN 10 CE-EN166;12 %38 % /4 £/50x105 DIN 10 CE-EN166  1-10-100
11 1IH5725 Welding filter lenses mirror golden 50x105 DIN 11 CE-EN166;18 %32 % /4 £/50x105 DIN 11 CE-EN166  1-10-100
12 1IH5721 Welding filter lenses mirror golden 50x105 DIN 12 CE-EN166;1 i 3 /4 £/50x105 DIN 12 CE-EN166  1-10-100
13 1IH5722 Welding filter lenses mirror golden 50x105 DIN 13 CE-EN166;# 3% 3t /4 £/50x105 DIN 13 CE-EN166 1-10-100
09 1IH5740 Welding filter lenses mirror silver 50x105 DIN 09 CE-EN166;12# i 3t Fi/4 %%/50x105 DIN 09 CE-EN166  1-10-100
10 1IH5746 Welding filter lenses mirror silver 50x105 DIN 10 CE-EN166; 124 i 3t Fi/4 $%/50x105 DIN 10 CE-EN166  1-10-100
11 11H5747 Welding filter lenses mirror silver 50x105 DIN 11 CE-EN166;1# & 3t Fi/3 $%/50x105 DIN 11 CE-EN166  1-10-100
12 IIH5748  Welding flter lenses mirror silver 50x105 DIN 12 CE-EN166;12 # 1 3 Fi/4% $/50x105 DIN 12 CE-EN166  1-10-100
13 1IH5749 Welding filter lenses mirror silver 50x105 DIN 13 CE-EN166;#2 % 3 /4 $%/50x105 DIN 13 CE-EN166  1-10-100
Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction) Note: About the registered trade mark, reference number of the model of the machine and spare parts, please see inner cover (company introduction)
13 e RT MR, SRR REHER, BRHENRT (AN EATERER. MRREHNSERS IR, BELHENR (QIEM 14




